UBC PhysAstro: PHAS Intranet

Department of Physics & Astronomy

University of British Columbia

PHAS Intranet

Home Services Documents Directory Forms WebCalendar Photo Archive Logout

Please be sure to Logout and close your browser to ensure the session has been successfully terminated.

Stores Inventory

Į	Stores Ki	iosk	Accoun	ting Report	Inventory Item	ns	Cabinet Numbers	6	Reports	Maintenance
	Withdrawal		etailed hdrawal	Stagnant Items	Physical Inventory Form	Re-Order	Catalogue of Items	Turns	Inventory	Inventory Valuation

Inventory Valuation

Category: 7 - Pipe Fittings

I tem Code	Cat	Sub Category	Description	Unit	On Hand	Cost	Sub-Total
03-03-11	7	Adapter	Tube-Pipe, 1/8" (0.250 ID) Socket x 1/8" MPT, Copper	ea	62	3.31	205.22
03-03-13	7	Adapter	Tube-Pipe, 1/4" (0.250 ID) Socket x 1/4" MPT, Copper/Brass	Each	65	6.88	447.20
03-03-14	7	Adapter	Tube-Pipe, 1/4" (0.375 ID) Socket x 1/4" MPT, Copper	ea	9	6.88	61.92
03-03-17	7	Adapter	Tube-Pipe, 1/4" (0.250 ID) x 3/8" MPT, Copper	ea	64	0.90	57.60
03-03-18	7	Adapter	Tube-Pipe, 1/4" (0.375 ID) Socket x 3/8" MPT, Copper/Brass	ea	51	2.40	122.40
03-03-31	7	Adapter	Tube-Pipe, 3/8" (0.500 ID) Socket x 3/8" MPT, Copper	ea	14	4.00	56.00
03-03-35	7	Adapter	Tube-Pipe, 1/2" (0.625) Socket x 1/2" MPT, Copper	Each	17	1.28	21.76
03-03-71	7	Adapter	Tube-Pipe, 3/8" (0.500 ID) Socket x 3/8" FPT, Copper	ea	19	4.63	87.97
03-03-74	7	Adapter	Tube-Pipe, 1/2" (0.625 ID) Socket x 1/2" FPT, Copper	ea	9	2.70	24.30
03-03-78	7	Adapter	*Tube-Pipe, 3/4" (0.875 ID) Socket x 3/4" FPT, Copper	ea	0	0.00	0.00
06-05-03	7	Adapter	Tube-Pipe, 3/4" (0.875 ID) Socket x 3/4" MPT, Copper		10	2.16	21.60
06-05-11	7	Adapter	Tube-Pipe, 1" (1.125 ID) Socket x 1" MPT, Copper	UNIT	2	5.84	11.68
06-05-21	7	Adapter	Tube-Pipe, 1" (1.125 ID) Socket x 1" FPT, Copper	UNIT	3	5.98	17.94
03-03-12	7	Adapter, Reducer	Tube-Pipe, 1/4" (0.375 ID) Socket x 1/8" MPT, Copper	ea	37	6.00	222.00
03-03-15	7	Adapter, Reducer	Tube-Pipe, 3/8" (0.500 ID) Socket x 1/4" MPT, Copper	ea	4	7.42	29.68
03-03-16	7	Adapter, Reducer	Tube-Pipe, 1/2" (0.625 ID) Socket x 1/4" MPT, Copper	ea	50	3.55	177.50
03-03-32	7	Adapter, Reducer	Tube-Pipe, 1/2" (0.625 ID) Socket x 3/8" MPT, Copper	ea	7	4.07	28.49

03-03-33	7	Adapter, Reducer	Tube-Pipe, 1/4" (0.375 ID) Socket x 1/2" MPT, Copper	ea	23	2.47	56.81
03-03-34	7	Adapter, Reducer	Tube-Pipe, 3/8" (0.500 ID) Socket x 1/2" MPT, Copper	ea	23	3.24	74.52
03-03-36	7	Adapter, Reducer	Tube-Pipe, 3/4" (0.875 ID) Socket x 1/2" MPT, Brass/Copper	ea	4	3.82	15.28
03-03-37	7	Adapter, Reducer	Tube-Pipe, 3/8" (0.500 ID) Socket x 3/4" MPT, Copper	ea	6	4.22	25.32
03-03-38	7	Adapter, Reducer	Tube-Pipe, 1/2" (0.625 ID) Socket x 3/4" MPT, Copper	ea	7	0.74	5.18
03-03-51	7	Adapter, Reducer	Tube-Pipe, 1/4" (0.250 ID) Socket x 1/8" FPT, Copper	ea	15	7.92	118.80
03-03-52	7	Adapter, Reducer	Tube-Pipe, 1/4" (0.250 ID) Socket x 1/4" FPT, Copper	EA	7	3.43	24.01
03-03-53	7	Adapter, Reducer	Tube-Pipe, 1/4" (0.375 ID) Socket x 1/8" FPT, Copper	ea	16	4.85	77.60
03-03-54	7	Adapter, Reducer	Tube-Pipe, 3/8" (0.500 ID) Socket x 1/4" FPT, Copper	ea	5	2.00	10.00
03-03-55	7	Adapter, Reducer	Tube-Pipe, 1/2" (0.625 ID) Socket x 1/4" FPT, Copper	ea	38	4.36	165.68
03-03-56	7	Adapter, Reducer	Tube-Pipe, 5/8" (0.750 ID) Socket x 1/4" FPT, Copper	ea	9	1.12	10.08
03-03-57	7	Adapter, Reducer	Tube-Pipe, 1/4" (0.250 ID) Socket x 3/8" FPT, Copper	ea	48	2.40	115.20
I tem Code	Cat	Sub Category	Description	Unit	On Hand	Cost	Sub-Total
	Cat	Sub Category Adapter, Reducer	Description Tube-Pipe, 1/4" (0.375 ID) Socket x 3/8" FPT, Copper	Unit ea		Cost 3.77	Sub-Total
Code		Adapter,	Tube-Pipe, 1/4" (0.375 ID) Socket x 3/8"		Hand		
Code 03-03-58	7	Adapter, Reducer Adapter,	Tube-Pipe, 1/4" (0.375 ID) Socket x 3/8" FPT, Copper Tube-Pipe, 1/2" (0.625 ID) Socket x 3/8"	ea	Hand 27	3.77	101.79
Code 03-03-58 03-03-72	7	Adapter, Reducer Adapter, Reducer Adapter,	Tube-Pipe, 1/4" (0.375 ID) Socket x 3/8" FPT, Copper Tube-Pipe, 1/2" (0.625 ID) Socket x 3/8" FPT, Copper Tube-Pipe, 3/8" (0.500 ID) Socket x 1/2"	ea ea	Hand 27	3.77 3.14	101.79 28.26
Code 03-03-58 03-03-72 03-03-73	7 7 7	Adapter, Reducer Adapter, Reducer Adapter, Reducer Adapter,	Tube-Pipe, 1/4" (0.375 ID) Socket x 3/8" FPT, Copper Tube-Pipe, 1/2" (0.625 ID) Socket x 3/8" FPT, Copper Tube-Pipe, 3/8" (0.500 ID) Socket x 1/2" FPT, Copper Tube-Pipe, 5/8" (0.750 ID) Socket x 1/2"	ea ea ea	9 16	3.77 3.14 3.14	101.79 28.26 50.24
O3-03-72 03-03-73 03-03-75	7 7 7	Adapter, Reducer Adapter, Reducer Adapter, Reducer Adapter, Reducer Adapter, Adapter, Adapter,	Tube-Pipe, 1/4" (0.375 ID) Socket x 3/8" FPT, Copper Tube-Pipe, 1/2" (0.625 ID) Socket x 3/8" FPT, Copper Tube-Pipe, 3/8" (0.500 ID) Socket x 1/2" FPT, Copper Tube-Pipe, 5/8" (0.750 ID) Socket x 1/2" FPT, Copper Tube-Pipe, 3/8" (0.500 ID) Socket x 3/4"	ea ea ea	9 16 8	3.77 3.14 3.14 6.76	101.79 28.26 50.24 54.08
Code 03-03-58 03-03-72 03-03-73 03-03-75 03-03-76	7 7 7 7	Adapter, Reducer Adapter, Reducer Adapter, Reducer Adapter, Reducer Adapter, Reducer Adapter, Adapter, Adapter, Adapter, Adapter, Adapter,	Tube-Pipe, 1/4" (0.375 ID) Socket x 3/8" FPT, Copper Tube-Pipe, 1/2" (0.625 ID) Socket x 3/8" FPT, Copper Tube-Pipe, 3/8" (0.500 ID) Socket x 1/2" FPT, Copper Tube-Pipe, 5/8" (0.750 ID) Socket x 1/2" FPT, Copper Tube-Pipe, 3/8" (0.500 ID) Socket x 3/4" FPT, Copper Tube-Pipe, 1/2" (0.625 ID) Socket x 3/4"	ea ea ea ea	9 16 8	3.77 3.14 3.14 6.76 3.19	101.79 28.26 50.24 54.08 31.90
Code 03-03-58 03-03-72 03-03-73 03-03-75 03-03-76	7 7 7 7 7	Adapter, Reducer Adapter, Adapter, Adapter, Adapter, Adapter, Adapter, Adapter,	Tube-Pipe, 1/4" (0.375 ID) Socket x 3/8" FPT, Copper Tube-Pipe, 1/2" (0.625 ID) Socket x 3/8" FPT, Copper Tube-Pipe, 3/8" (0.500 ID) Socket x 1/2" FPT, Copper Tube-Pipe, 5/8" (0.750 ID) Socket x 1/2" FPT, Copper Tube-Pipe, 3/8" (0.500 ID) Socket x 3/4" FPT, Copper Tube-Pipe, 1/2" (0.625 ID) Socket x 3/4" FPT, Copper 3/16" (0.1875 ID) - 1/8" (0.125 ID),	ea ea ea ea	9 16 8 10	3.77 3.14 3.14 6.76 3.19 2.64	101.79 28.26 50.24 54.08 31.90 10.56
Code 03-03-58 03-03-72 03-03-73 03-03-75 03-03-76 03-03-77	7 7 7 7 7	Adapter, Reducer Adapter, Adapter, Adapter, Reducer Adapter, Adapter, Adapter,	Tube-Pipe, 1/4" (0.375 ID) Socket x 3/8" FPT, Copper Tube-Pipe, 1/2" (0.625 ID) Socket x 3/8" FPT, Copper Tube-Pipe, 3/8" (0.500 ID) Socket x 1/2" FPT, Copper Tube-Pipe, 5/8" (0.750 ID) Socket x 1/2" FPT, Copper Tube-Pipe, 3/8" (0.500 ID) Socket x 3/4" FPT, Copper Tube-Pipe, 1/2" (0.625 ID) Socket x 3/4" FPT, Copper 3/16" (0.1875 ID) - 1/8" (0.125 ID), Female Socket, Copper Tube-Pipe, 5/8" (0.750 ID) Socket x 3/4"	ea ea ea ea ea ea	Hand 27 9 16 8 10 4 140	3.77 3.14 3.14 6.76 3.19 2.64 6.60	101.79 28.26 50.24 54.08 31.90 10.56 924.00
03-03-58 03-03-72 03-03-73 03-03-75 03-03-76 03-03-77 03-04-11 06-05-01	7 7 7 7 7 7	Adapter, Reducer Adapter, Reducer	Tube-Pipe, 1/4" (0.375 ID) Socket x 3/8" FPT, Copper Tube-Pipe, 1/2" (0.625 ID) Socket x 3/8" FPT, Copper Tube-Pipe, 3/8" (0.500 ID) Socket x 1/2" FPT, Copper Tube-Pipe, 5/8" (0.750 ID) Socket x 1/2" FPT, Copper Tube-Pipe, 3/8" (0.500 ID) Socket x 3/4" FPT, Copper Tube-Pipe, 3/8" (0.500 ID) Socket x 3/4" FPT, Copper Tube-Pipe, 1/2" (0.625 ID) Socket x 3/4" FPT, Copper 3/16" (0.1875 ID) - 1/8" (0.125 ID), Female Socket, Copper Tube-Pipe, 5/8" (0.750 ID) Socket x 3/4" MPT, Copper	ea ea ea ea ea UNIT	Hand 27 9 16 8 10 4 140 4	3.77 3.14 3.14 6.76 3.19 2.64 6.60 4.94	101.79 28.26 50.24 54.08 31.90 10.56 924.00 19.76

06-05-13	7	Adapter, Reducer	Tube-Pipe, 3/4" (0.875 ID) Socket x 1/2" FPT, Copper	UNIT	4	4.40	17.60
06-05-15	7	Adapter, Reducer	Tube-Pipe, 1/2" (0.625 ID) Socket x 1" FPT, Copper	Eacjh	0	8.40	0.00
06-05-17	7	Adapter, Reducer	Tube-Pipe, 3/4" (0.875 ID) Socket x 1" MPT, Copper	Each	1	8.30	8.30
06-05-19	7	Adapter, Reducer	Tube-Pipe, 1" (1.125 ID) Socket x 3/4" MPT, Copper	UNIT	2	8.17	16.34
06-05-23	7	Adapter, Reducer	Tube-Pipe, 3/4" (0.875 ID) Socket x 1" FPT, Copper	UNIT	4	7.19	28.76
03-05-51	7	Bushing, Reducing	1/4" MPT x 1/8" FPT, Hex, Brass	Each	7	0.77	5.39
03-05-52	7	Bushing, Reducing	3/8" MPT x 1/8" FPT, Hex, Brass	Each	9	1.22	10.98
03-05-53	7	Bushing, Reducing	3/8" MPT x 1/4" FPT, Hex, Brass	Each	3	0.89	2.67
03-05-54	7	Bushing, Reducing	1/2" MPT x 1/8" FPT, Hex, Brass	ea	26	2.06	53.56
03-05-55	7	Bushing, Reducing	1/2" MPT x 1/4" FPT, Hex, Brass	Each	9	2.02	18.18
03-05-56	7	Bushing, Reducing	1/2" MPT x 3/8" FPT, Hex, Brass	ea	4	1.98	7.92
03-05-57	7	Bushing, Reducing	3/4" MPT x 1/8" FPT, Hex, Brass	ea	7	4.80	33.60
03-05-71	7	Bushing, Reducing	3/4" MPT x 1/4" FPT, Hex, Brass	ea	5	3.59	17.95
03-05-73	7	Bushing, Reducing	3/4" MPT x 3/8" FPT, Hex, Brass	ea	4	3.29	13.16
03-05-75	7	Bushing, Reducing	3/4" MPT x 1/2" FPT, Hex, Brass	ea	7	2.70	18.90
03-05-31	7	Cap, Copper	1/4" (0.250 ID)	Each	107	0.60	64.20
03-05-32	7	Cap, Copper	3/8" (0.500 ID)	ea	126	0.90	113.40
03-05-33	7	Cap, Copper	1/2" (0.625 ID)	ea	10	0.56	5.60
03-05-34	7	Cap, Copper	5/8" (0.750 ID)	ea	51	0.98	49.98
I tem Code	Cat	Sub Category	Description	Unit	On Hand	Cost	Sub-Total
03-05-35	7	Cap, Copper	3/4" (0.875 ID)	ea	64	0.77	49.28
03-05-37	7	Cap, Copper	1" (1.125 ID)	ea	6	2.35	14.10
03-05-41	7	Cap, Copper	1/4" (0.375 ID)	ea	118	0.59	69.62
03-06-37	7	Compression Fitting	1/4", Bulkhead Union, Brass	EA	9	9.95	89.55
03-08-11	7	Compression Fitting	Tube-Pipe, 1/4" (0.250 OD) x 1/8" FPT, Reducer, Brass	EA	14	1.60	22.40
03-08-15	7	Compression Fitting	Tube-Pipe, 1/4" (0.375") x 1/4" FPT, Adapter, Brass	EA	6	3.60	21.60
03-08-17	7	Compression Fitting	Tube-Pipe, 1/4" (0.375 OD) x 1/2" FPT, Reducer, Brass	EA	5	4.87	24.35

03-08-21	7	Compression Fitting	Tube-Pipe, 1/4" (0.250 OD) x 1/4" MPT, Adapter, Brass	EA	2	7.20	14.40
03-08-09	7	•		EA EA	7	3.177.20	22.19 14.40
03-08-23	7	Compression Fitting	Tube-Pipe, 1/4" (0.250 OD) x 3/8" MPT, Reducer, Brass	EA	5	3.60	18.00
03-08-25	7	Compression Fitting	Tube-Pipe, 1/4" (0.375 OD) x 3/8" MPT, Reducer, Brass	EA	13	2.27	29.51
03-08-27	7	Compression Fitting	Tube-Pipe, 1/4" (0.250 OD) x 3/8" FPT, Reducer, Brass	EA	8	4.49	35.92
03-08-29	7	Compression Fitting	Tube-Pipe, 3/8" (0.375 OD) x 1/8" FPT, Reducer, Bras	EA	8	2.06	16.48
03-08-41	7	Compression Fitting	Tube-Pipe, 3/8" (0.500 OD) x 3/8" MPT, Adapter, Brass	EA	14	2.08	29.12
03-08-43	7	Compression Fitting	Tube-Pipe, 3/8" (0.500 OD) x 1/2" MPT, Reducer, Brass	EA	5	2.53	12.65
03-08-45	7	Compression Fitting	Tube-Pipe, 3/8" (0.500 OD) x 1/2" FPT, Reducer, Brass	EA	2	3.20	6.40
03-08-47	7	Compression Fitting	1/4" (0.250" OD), ACR, Tee, 3 Tube Ends, Brass	EA	8	4.03	32.24
03-08-49	7	Compression Fitting	0.375in, Tee, 3 Tube Ends, Brass	EA	5	5.33	26.65
03-06-39	7	Compression Fitting	3/8" (0.375), Bulkhead Union, Brass	EA	5	21.01	105.05
03-06-41	7	Compression Fitting	1/4" (0.250 Dia), Union, Brass	EA	9	2.40	21.60
03-06-43	7	Compression Fitting	1/4" (0.375 Dia), Union, Brass	EA	6	2.36	14.16
03-06-49	7	Compression Fitting	1/2" (0.500 Dia) x 3/8" (0.375 Dia), Reducing Union	EA	5	4.64	23.20
03-06-47	7	Compression Fitting	3/8" (0.375 Dia) x 1/4" (0.250 Dia), Reducing Union	EA	11	5.17	56.87
I tem Code	Cat	Sub Category	Description	Unit	On Hand	Cost	Sub-Total

03-08-13	7	Compression Fittng	Tube-Pipe, 1/4" (0.250 OD) x 1/2" FPT, Adapter, Brass	EA	5	3.60	18.00
03-08-33	7	Compression Fittng	Tube-Pipe, 3/8" (0.500 OD) x 3/8" FPT, Adapter, Brass	EA	3	2.36	7.08
03-01-11	7	Coupling, Copper	1/8" (0.125 ID), ACR, Center Stop, Female Socket Ends	ea	118	0.42	49.56
03-01-12	7	Coupling, Copper	1/4" (0.250 ID), ACR, Center Stop, Female Socket Ends	Each	76	1.20	91.20
03-01-13	7	Coupling, Copper	5/16" (0.3125 OD), Center Stop, Female Socket Ends	Each	38	0.28	10.64
03-01-14	7	Coupling, Copper	1/4" (0.375 ID), Center Stop, Female Socket Ends	ea	60	0.90	54.00
03-01-15	7	Coupling, Copper	3/8" (0.500 ID), Center Stop, Female Socket Ends	ea	41	0.42	17.22
03-01-17	7	Coupling, Copper	1/2" (0.625 ID), Center Stop, Female Socket Ends	Each	15	0.54	8.10
03-01-21	7	Coupling, Copper	3/16" (0.1875 ID), ACR, Center Stop, Female Socket Ends	ea	117	0.42	49.14
03-01-31	7	Coupling, Copper	5/8" (0.750 ID), Center Stop, Female Socket Ends	ea	15	1.52	22.80
03-01-33	7	Coupling, Copper	3/4" (0.875 ID), Center Stop, Female Socket Ends	ea	11	1.15	12.65
03-01-35	7	Coupling, Copper	*7/8" (1.000 ID), Center Stop, Female Socket Ends		0	0.00	0.00
03-01-37	7	Coupling, Copper	1" (1.125 ID), Center Stop, Female Socket Ends	ea	10	2.18	21.80
03-04-12	7	Coupling, Reducer	1/4" (0.250 ID) - 1/8" (0.125 ID), Female Socket, Copper	ea	37	6.60	244.20
03-04-13	7	Coupling, Reducer	1/4" (0.375 ID) - 1/4" (0.250 ID), Female Socket, Copper	ea	43	7.20	309.60
03-04-14	7	Coupling, Reducer	1/4" (0.375 ID) - (5/16" / 0.3125 ID) Socket Ends, Copper	ea	19	3.00	57.00
03-04-15	7	Coupling, Reducer	3/8" (0.500 ID) - 1/4" (0.250 ID), Female Socket Ends	ea	26	2.60	67.60
03-04-16	7	Coupling, Reducer	3/8" (0.500 ID) - 1/4" (0.375 ID), Female Socket Ends	ea	33	1.52	50.16
03-04-17	7	Coupling, Reducer	1/2" (0.625 ID) - 1/4" (0.250 ID), Female Socket Ends	ea	44	0.90	39.60
03-04-18	7	Coupling, Reducer	1/2" (0.625) - 1/4" (0.375 ID), Female Socket Ends	ea	25	0.90	22.50
03-04-22	7	Coupling, Reducer	1/4" (0.250 ID) - 3/16" (0.1875 ID), Female Socket Ends	ea	66	7.20	475.20
03-04-31	7	Coupling, Reducer	1/2" (0.625 ID) - 3/8" (0.500 ID), Female Socket Ends	ea	15	0.94	14.10
03-04-32	7	Coupling, Reducer	5/8" (0.750 ID) - 1/4" (0.375 ID), Female Socket Ends	ea	14	2.52	35.28
03-04-33	7	Coupling, Reducer	5/8" (0.750 ID) - 3/8" (0.500 ID), Female Socket Ends	ea	15	2.98	44.70

03-04-34	7	Coupling, Reducer	5/8" (0.750 ID) - 1/2" (0.625 ID), Female Socket Ends	ea	23	2.92	67.16
03-04-35	7	Coupling, Reducer	3/4" (0.875 ID) - 1/4" (0.375 ID), Female Socket Ends	ea	12	1.75	21.00
03-04-36	7	Coupling, Reducer	3/4" (0.875 ID) - 3/8" (0.500 ID), Female Socket Ends	ea	21	1.70	35.70
03-04-37	7	Coupling, Reducer	3/4" (0.875 ID) - 1/2" (0.625 ID), Female Socket Ends	ea	12	1.62	19.44
03-04-38	7	Coupling, Reducer	3/4" (0.875 ID) - 5/8" (0.750 ID), Female Socket Ends	ea	34	1.75	59.50
03-04-51	7	Coupling, Reducer	1" (1.125 ID) - 3/8" (0.500 ID), Female Socket Ends	ea	9	3.49	31.41
I tem Code	Cat	Sub Category	Description	Unit	On Hand	Cost	Sub-Total
03-04-53	7	Coupling, Reducer	1" (1.125 ID) - 5/8" (0.625 ID), Female Socket Ends	ea	6	3.85	23.10
03-04-55	7	Coupling, Reducer	1" (1.125 ID) - 5/8" (.750 ID), Female Socket Ends, Copper	ea	4	3.06	12.24
03-04-57	7	Coupling, Reducer	1" (1.125 ID) - 3/4" (0.875 ID), Female Socket Ends, Copper	ea	9	3.85	34.65
03-06-31	7	Coupling, Threaded	1/8" FPT, Hex Coupling, Brass	Each	8	4.56	36.48
03-06-32	7	Coupling, Threaded	1/4" FPT, Hex Coupling, Brass	Each	3	1.74	5.22
03-06-33	7	Coupling, Threaded	3/8" FPT, Hex Coupling, Brass	Each	5	6.96	34.80
03-06-35	7	Coupling, Threaded	1/2" FPT, Hex Coupling, Brass	Each	6	9.05	54.30
03-06-40	7	Coupling, Threaded	3/4" FPT, Hex Coupling, Brass	Each	6	4.64	27.84
03-02-11	7	Elbow, Copper	3/16" (0.1875 ID), 90 deg, Short Rad, Female Socket Ends	Each	9	1.80	16.20
03-02-12	7	Elbow, Copper	1/4" (0.375" ID), 90 deg, Female Socket Ends	ea	35	4.20	147.00
03-02-13	7	Elbow, Copper	5/16" (0.3125" ID), 90 deg, Female Socket Ends	ea	61	4.93	300.73
03-02-14	7	Elbow, Copper	1/4" (0.375 ID), 90 deg, Female Socket Ends	ea	5	2.40	12.00
03-02-15	7	Elbow, Copper	3/8" (0.500 ID), 90 deg, Female Socket End	ea	45	4.00	180.00
03-02-17	7	Elbow, Copper	1/2" (0.625 ID), 90 deg, Female Socket Ends	ea	22	0.84	18.48
03-02-31	7	Elbow, Copper	*5/8" (0.750 ID), 90 deg, Short Radius, Female Socket Ends	EA	2	3.86	7.72
03-02-33	7	Elbow, Copper	3/4" (0.875 ID), 90 deg, Short Radius, Female Socket Ends	EA	27	1.61	43.47
03-02-35	7	Elbow, Copper	*7/8" (1.000 ID), 90 deg, Short Radius, Female Socket Ends		0	0.00	0.00

03-02-37	7	Elbow, Copper	1" (1.125 ID), 90 deg, Short Radius, Female Socket Ends	ea	8	3.60	28.80
03-02-51	7	Elbow, Copper	1/4" (0.250 ID), ACR, 45 deg, Female Socket Ends	ea	70	3.60	252.00
03-02-53	7	Elbow, Copper	1/4" (0.375 ID), 45 deg, Short Radius, Female Socket Ends	ea	69	3.82	263.58
03-02-55	7	Elbow, Copper	3/8" (0.500 ID), 45 deg, Short Radius, Female Socket Ends	ea	23	3.02	69.46
03-02-57	7	Elbow, Copper	1/2" (0.625 ID), 45 deg, Short Radius, Female Socket Ends	ea	25	1.43	35.75
03-02-71	7	Elbow, Copper	5/8" (0.750 ID), 45 deg, Short Radius, Female Socket Ends	ea	48	6.22	298.56
03-02-73	7	Elbow, Copper	3/4" (0.875 ID), 45 deg, Short Radius, Female Socket Ends	ea	13	1.88	24.44
03-02-75	7	Elbow, Copper	1" (1.125 ID), 45 deg, Short Radius, Female Socket Ends	ea	7	4.79	33.53
03-06-11	7	Hex Nipple	1/8" MPT, Brass	Each	10	0.95	9.50
03-06-12	7	Hex Nipple	1/4" MPT, Brass	Each	7	1.08	7.56
03-06-13	7	Hex Nipple	3/8" MPT, Brass	Each	13	3.60	46.80
03-06-15	7	Hex Nipple	1/2" MPT, Brass	Each	5	20.17	100.85
03-06-17	7	Hex Nipple	3/4" MPT, Hex & Non-hex, Brass	Each	19	4.20	79.80
I tem Code	Cat	Sub Category	Description	Unit	On Hand	Cost	Sub-Total
00 05 11	7	Dlug	1/8" MPT, Hex Head	ea	7	6.00	42.00
03-05-11	,	Plug	170 Wil 1, Hex Head	Ca	7	0.00	42.00
03-05-11	7	Plug	1/4" MPT, Hex Head, Cored	Each	9	0.97	8.73
		_					
03-05-12	7	Plug	1/4" MPT, Hex Head, Cored	Each	9	0.97	8.73
03-05-12 03-05-13	7 7	Plug Plug	1/4" MPT, Hex Head, Cored 3/8" MPT, Hex Head, Solid	Each ea	9	0.97 2.40	8.73 21.60
03-05-12 03-05-13 03-05-15	7 7 7	Plug Plug Plug	1/4" MPT, Hex Head, Cored 3/8" MPT, Hex Head, Solid 1/2" MPT, Hex Head, Cored	Each ea ea	9 9 10	0.97 2.40 1.75	8.73 21.60 17.50
03-05-12 03-05-13 03-05-15 03-05-17	7 7 7 7	Plug Plug Plug Plug	1/4" MPT, Hex Head, Cored 3/8" MPT, Hex Head, Solid 1/2" MPT, Hex Head, Cored 3/4" MPT, Hex Head, Cored	Each ea ea ea	9 9 10 12	0.97 2.40 1.75 3.42	8.73 21.60 17.50 41.04
03-05-12 03-05-13 03-05-15 03-05-17 03-06-75	7 7 7 7	Plug Plug Plug Plug Tape	1/4" MPT, Hex Head, Cored 3/8" MPT, Hex Head, Solid 1/2" MPT, Hex Head, Cored 3/4" MPT, Hex Head, Cored Teflon Pipe Tape, 1/2" x 480	Each ea ea Each	9 9 10 12 4	0.97 2.40 1.75 3.42 0.80	8.73 21.60 17.50 41.04 3.20
03-05-12 03-05-13 03-05-15 03-05-17 03-06-75 03-01-51	7 7 7 7 7	Plug Plug Plug Plug Tape Tee, Copper	1/4" MPT, Hex Head, Cored 3/8" MPT, Hex Head, Solid 1/2" MPT, Hex Head, Cored 3/4" MPT, Hex Head, Cored Teflon Pipe Tape, 1/2" x 480 1/8" (0.125 ID), ACR, Female Socket Ends	Each ea ea ea Each Each	9 9 10 12 4 85	0.97 2.40 1.75 3.42 0.80 4.67	8.73 21.60 17.50 41.04 3.20 396.95
03-05-12 03-05-13 03-05-15 03-05-17 03-06-75 03-01-51 03-01-52	7 7 7 7 7 7	Plug Plug Plug Plug Tape Tee, Copper	1/4" MPT, Hex Head, Cored 3/8" MPT, Hex Head, Solid 1/2" MPT, Hex Head, Cored 3/4" MPT, Hex Head, Cored Teflon Pipe Tape, 1/2" x 480 1/8" (0.125 ID), ACR, Female Socket Ends 1/4" (0.250 ID), ACR, Female Socket Ends	Each ea ea Each Each Each	9 10 12 4 85 22	0.97 2.40 1.75 3.42 0.80 4.67 8.40	8.73 21.60 17.50 41.04 3.20 396.95 184.80
03-05-12 03-05-13 03-05-15 03-05-17 03-06-75 03-01-51 03-01-52	7 7 7 7 7 7	Plug Plug Plug Plug Tape Tee, Copper Tee, Copper	1/4" MPT, Hex Head, Cored 3/8" MPT, Hex Head, Solid 1/2" MPT, Hex Head, Cored 3/4" MPT, Hex Head, Cored Teflon Pipe Tape, 1/2" x 480 1/8" (0.125 ID), ACR, Female Socket Ends 1/4" (0.250 ID), ACR, Female Socket Ends 5/16" (0.3125 ID), Female Socket Ends	Each ea ea Each Each Each	9 10 12 4 85 22 34	0.97 2.40 1.75 3.42 0.80 4.67 8.40 9.60	8.73 21.60 17.50 41.04 3.20 396.95 184.80 326.40
03-05-12 03-05-13 03-05-15 03-05-17 03-06-75 03-01-51 03-01-52 03-01-53 03-01-54	7 7 7 7 7 7 7	Plug Plug Plug Plug Tape Tee, Copper Tee, Copper Tee, Copper	1/4" MPT, Hex Head, Cored 3/8" MPT, Hex Head, Solid 1/2" MPT, Hex Head, Cored 3/4" MPT, Hex Head, Cored Teflon Pipe Tape, 1/2" x 480 1/8" (0.125 ID), ACR, Female Socket Ends 1/4" (0.250 ID), ACR, Female Socket Ends 5/16" (0.3125 ID), Female Socket Ends 1/4" (0.375 ID), Female Socket Ends	Each ea ea Each Each Each Each	9 9 10 12 4 85 22 34 33	0.97 2.40 1.75 3.42 0.80 4.67 8.40 9.60 0.60	8.73 21.60 17.50 41.04 3.20 396.95 184.80 326.40 19.80
03-05-12 03-05-13 03-05-15 03-05-17 03-06-75 03-01-51 03-01-52 03-01-53 03-01-54 03-01-55	7 7 7 7 7 7 7 7	Plug Plug Plug Plug Tape Tee, Copper Tee, Copper Tee, Copper Tee, Copper	1/4" MPT, Hex Head, Cored 3/8" MPT, Hex Head, Solid 1/2" MPT, Hex Head, Cored 3/4" MPT, Hex Head, Cored Teflon Pipe Tape, 1/2" x 480 1/8" (0.125 ID), ACR, Female Socket Ends 1/4" (0.250 ID), ACR, Female Socket Ends 5/16" (0.3125 ID), Female Socket Ends 1/4" (0.375 ID), Female Socket Ends 3/8" (0.500 ID), Female Socket Ends	Each ea ea Each Each Each Each Each	9 10 12 4 85 22 34 33 19	0.97 2.40 1.75 3.42 0.80 4.67 8.40 9.60 0.60 3.28	8.73 21.60 17.50 41.04 3.20 396.95 184.80 326.40 19.80 62.32
03-05-12 03-05-13 03-05-15 03-05-17 03-06-75 03-01-51 03-01-52 03-01-53 03-01-54 03-01-55 03-01-57	7 7 7 7 7 7 7 7	Plug Plug Plug Plug Tape Tee, Copper Tee, Copper Tee, Copper Tee, Copper Tee, Copper Tee, Copper	1/4" MPT, Hex Head, Cored 3/8" MPT, Hex Head, Solid 1/2" MPT, Hex Head, Cored 3/4" MPT, Hex Head, Cored Teflon Pipe Tape, 1/2" x 480 1/8" (0.125 ID), ACR, Female Socket Ends 1/4" (0.250 ID), ACR, Female Socket Ends 5/16" (0.3125 ID), Female Socket Ends 1/4" (0.0375 ID), Female Socket Ends 3/8" (0.500 ID), Female Socket Ends 1/2" (0.625 ID), Female Socket Ends 3/16" (0.1875 ID), ACR, Female Socket	Each ea ea Each Each Each Each Each EA	9 9 10 12 4 85 22 34 33 19 5	0.97 2.40 1.75 3.42 0.80 4.67 8.40 9.60 0.60 3.28 7.06	8.73 21.60 17.50 41.04 3.20 396.95 184.80 326.40 19.80 62.32 35.30
03-05-12 03-05-13 03-05-15 03-05-17 03-06-75 03-01-51 03-01-52 03-01-53 03-01-54 03-01-55 03-01-57	7 7 7 7 7 7 7 7	Plug Plug Plug Plug Tape Tee, Copper	1/4" MPT, Hex Head, Cored 3/8" MPT, Hex Head, Solid 1/2" MPT, Hex Head, Cored 3/4" MPT, Hex Head, Cored Teflon Pipe Tape, 1/2" x 480 1/8" (0.125 ID), ACR, Female Socket Ends 1/4" (0.250 ID), ACR, Female Socket Ends 5/16" (0.3125 ID), Female Socket Ends 1/4" (0.375 ID), Female Socket Ends 3/8" (0.500 ID), Female Socket Ends 1/2" (0.625 ID), Female Socket Ends 3/16" (0.1875 ID), ACR, Female Socket Ends	Each ea ea Each Each Each Each Each EA EA EA	9 10 12 4 85 22 34 33 19 5	0.97 2.40 1.75 3.42 0.80 4.67 8.40 9.60 0.60 3.28 7.06 2.40	8.73 21.60 17.50 41.04 3.20 396.95 184.80 326.40 19.80 62.32 35.30
03-05-12 03-05-13 03-05-15 03-05-17 03-06-75 03-01-51 03-01-52 03-01-53 03-01-54 03-01-55 03-01-57	7 7 7 7 7 7 7 7 7	Plug Plug Plug Plug Plug Tape Tee, Copper	1/4" MPT, Hex Head, Cored 3/8" MPT, Hex Head, Solid 1/2" MPT, Hex Head, Cored 3/4" MPT, Hex Head, Cored Teflon Pipe Tape, 1/2" x 480 1/8" (0.125 ID), ACR, Female Socket Ends 1/4" (0.250 ID), ACR, Female Socket Ends 5/16" (0.3125 ID), Female Socket Ends 1/4" (0.375 ID), Female Socket Ends 3/8" (0.500 ID), Female Socket Ends 1/2" (0.625 ID), Female Socket Ends 3/16" (0.1875 ID), ACR, Female Socket Ends 5/8" (0.750 ID), Female Socket Ends	Each ea ea Each Each Each Each EA EA EA	9 9 10 12 4 85 22 34 33 19 5 60	0.97 2.40 1.75 3.42 0.80 4.67 8.40 9.60 0.60 3.28 7.06 2.40 8.42	8.73 21.60 17.50 41.04 3.20 396.95 184.80 326.40 19.80 62.32 35.30 144.00 75.78
03-05-12 03-05-13 03-05-15 03-05-17 03-06-75 03-01-51 03-01-52 03-01-53 03-01-54 03-01-55 03-01-57 03-01-61 03-01-71	7 7 7 7 7 7 7 7 7	Plug Plug Plug Plug Plug Tape Tee, Copper	1/4" MPT, Hex Head, Cored 3/8" MPT, Hex Head, Solid 1/2" MPT, Hex Head, Cored 3/4" MPT, Hex Head, Cored Teflon Pipe Tape, 1/2" x 480 1/8" (0.125 ID), ACR, Female Socket Ends 1/4" (0.250 ID), ACR, Female Socket Ends 5/16" (0.3125 ID), Female Socket Ends 1/4" (0.375 ID), Female Socket Ends 3/8" (0.500 ID), Female Socket Ends 1/2" (0.625 ID), Female Socket Ends 3/16" (0.1875 ID), ACR, Female Socket Ends 5/8" (0.750 ID), Female Socket Ends	Each ea Each Each Each Each Each EA EA EA	9 9 10 12 4 85 22 34 33 19 5 60 9	0.97 2.40 1.75 3.42 0.80 4.67 8.40 9.60 0.60 3.28 7.06 2.40 8.42 3.60	8.73 21.60 17.50 41.04 3.20 396.95 184.80 326.40 19.80 62.32 35.30 144.00 75.78 43.20
03-05-12 03-05-13 03-05-15 03-05-17 03-06-75 03-01-51 03-01-52 03-01-53 03-01-54 03-01-55 03-01-57 03-01-61 03-01-71 03-01-73	7 7 7 7 7 7 7 7 7	Plug Plug Plug Plug Plug Tape Tee, Copper	1/4" MPT, Hex Head, Cored 3/8" MPT, Hex Head, Solid 1/2" MPT, Hex Head, Cored 3/4" MPT, Hex Head, Cored Teflon Pipe Tape, 1/2" x 480 1/8" (0.125 ID), ACR, Female Socket Ends 1/4" (0.250 ID), ACR, Female Socket Ends 5/16" (0.3125 ID), Female Socket Ends 1/4" (0.375 ID), Female Socket Ends 3/8" (0.500 ID), Female Socket Ends 1/2" (0.625 ID), Female Socket Ends 3/16" (0.1875 ID), ACR, Female Socket Ends 5/8" (0.750 ID), Female Socket Ends 3/4" (0.875 ID), Female Socket Ends 1/2" (0.875 ID), Female Socket Ends	Each ea Each Each Each Each Each EA EA EA EA	9 9 10 12 4 85 22 34 33 19 5 60 9 12 0	0.97 2.40 1.75 3.42 0.80 4.67 8.40 9.60 0.60 3.28 7.06 2.40 8.42 3.60 0.00	8.73 21.60 17.50 41.04 3.20 396.95 184.80 326.40 19.80 62.32 35.30 144.00 75.78 43.20 0.00

03-06-57	7	Tube Strap	7/8", Straddle, Copper	ea	25	0.48	12.00
03-06-71	7	Tube Strap	1-1/8", Straddle, Copper	ea	54	0.74	39.96
03-06-73	7	Tube Strap	1/2" x 25', Perforated Copper or Steel	ft	40	0.86	34.40
03-08-75	7	Unassigned	Unassigned	EA	0	0.00	0.00
03-08-77	7	Unassigned	Unassigned	EA	0	0.00	0.00
03-05-77	7	Unassigned	Unassigned		0	0.00	0.00
06-10-01	7	Unassigned	Unassigned		0	0.00	0.00
03-05-14	7	Unassigned	Unassigned		0	0.00	0.00
03-08-60	7	Unassigned	Unassigned	EA	0	0.00	0.00
03-08-54	7	Unassigned	Unassigned		0	0.00	0.00
03-08-56	7	Unassigned	Unassigned	EACH	0	0.00	0.00
I tem Code	Cat	Sub Category	Description	Unit	On Hand	Cost	Sub-Total
03-04-71	7	Union, Threaded	1/4" (0.375 ID), Socket to Socket, Copper	ea	22	11.14	245.08
03-04-72	7	Union, Threaded	3/8" (0.500 ID), Socket to Socket, Copper	ea	15	10.51	157.65
03-04-73	7	Union, Threaded	1/2" (0.675 ID), Socket to Socket, Copper	ea	23	6.04	138.92
03-04-75	7	Union, Threaded	3/4" (0.875 ID), Socket to Socket, Copper	ea	14	6.65	93.10

Pipe Fittings Total: \$ 11,390.52

GRAND TOTAL: \$ 11,390.52

sysadmin@phas.ubc.ca Intranet Home Page last updated: 2011-09-09